


Quadratic Models
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The tunction that describes the arch is

M) = —0.005 061x2 + 0.499 015« v it
e
where b(x) is the heighrt, in metres, of the arch above the ice ar any distance,
x, in metres, from one end of the bridge. \
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5:-.'ﬂchrmui:-'.r:d divers purfmm m;m:hing, dives from opposite sides }l:-" 1 .;';51?
of a platform that is 10 m high. It two divers reached their maximum

|1ei_g_l;|u of 0.6 m above the pl;lrmrm atter 0.35 s, how ]nnnl did it take

them to reach the warter? —
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Determine three consecutive odd integers, it the square of the largest

integer is 33 less than the sum of the squares of the two smaller in tegers.

fﬂc*l-lf' = {xYy + (x+2Y - 33

XY x 8y 206 = Wer < HlUx 4y <33
-t gy LG '-Jf{ ~ 9P e ~l¢
0= Xt~y -4s

O (% ~9)(x +5)
% =9 >x = -5
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due west at 10 km/h. Three hours later, another sailboar leaves the same d - V. 't
— ®

At noon, a sailboar leaves a harbour on Vancouver Island and travels

harbour and travels due south at 15 kmi/h. At what time, to the nearest

minute, will the sailboats be 40 km apart? 3 . =
49
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1GO0 = \0O£ + GOOt » 00 + 225"
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